An indexing/skewing drive system for rotating the motor cores
used for electric motors in home electrical appliances.

Servo-dex EVR2 series

‘Servo-dex EVR2 series is an indexing/skewing drive

This series can easily be cortralled using a timing signal,
and various control patterns are now also available.

Features
® General-purpose models providing basic performance at a low cost

@ Supports optional stacking angle settings and various types of control patterns
Stacking operation triggered by the timing signal
Its high precision positioning increases mold life.

o . . . .
The combination of a servo driven feeder and a servodex device results in
@ maximum motor core line optimization

Specification table

Item Unit EVR2-75 EVR2-150 EVR2-300
Rated torque N-m 48 95 358
Maximum torque N-m 119 224 752
Rated rpm rpm 1500 1500 800
Load inertia(max)*2 kg'm?2 0.05 0.15 1.25
Indexing angle deg Any angle
Permitted axial load deg Any angle
Permitted axial load*® N 100
Permitted radial load*4 *© N 2,000 3,000 4,000
Motor capacity Kw 7.5 15 30
Product weight kg 125 217 445

%1 Indicates the accuracy of a single unit. It does not include the residual vibration that occurs when using a timing belt.
%2 The capacity changes, depending on the speed ratio and the load being handled. 3 Represents the weight of the load.
%4 Represents the load applied to the center height of the output shaft. %5 Use a timing belt that has a low elastic deformation to suppress residual vibration.

Capacity graph

EVR2-75 Indexing angle=180° EVR2-150 Indexing angle=180" EVR2-300 Indexing angle=180°
180 \ 180 \ 180 \ \ \
150 150 150
S 10 2 120 S 120
® o o
w W 2
5 5 o & \ \ \
c % i S w
ie] il kel
© T ©
S 60 5 60 o 60
i is i
— Load=0.01 kg:m? — Load=0.05 kg:m’
[ ' M~ 301 — Lonino 1 rgare s0| " Loa=025 kg
30 Load=0.03 kg mi 0ad=0.1 kg*m — Load=0.75 k-
— Load=0. . — =0. -m2 0
Lo‘ad 0.05 kg‘ m Load 0‘ 15 kgemi — Load=1.25 kg
0 0 0 n
100 200 300 400 500 600 700 100 200 300 400 500 100 200 300 400 500
Press speed (min-) Press speed (min~) Press speed (min~')




Dimensional drawing

EVR2-75

0
20 -

60

120

£

M10x1.5 THRU (For lifting)

200

240

g

o
=

Adjustment range

Grease refueling port(A)

356
(369.2)

Grease refueling port(B)

Adjustment bolt(For belt tension)

¢50 o
1 40 h7 8025 & o
(430) 5
O (2)M10x1.5 THRU ’_J;l_‘
w00 i (For lifting) o - Bracket
T = ; ;
.58 Seole : - 5111 ! (Paint colorN9)
g L C o — Scale
g 205 v N\ \-glg needle
& idw: N h Y
© 3 ) i
2 (135) E V|
95 { 14
25
0 Y g .
(4)p11 Jack bolt
(For mounting) 812; = — g ace
Cooling fan Servomotor
MDS1238H-24 Motor capacity/7.5kW
(Orientalmotor) (YASKAWA{

EVR2-300

.75 THRU

(2)M12x1.75 24DP

Grease refueling port(A) 475
0 330
P
StrE o (@)M12x1
193 "E 51 (For lifting)
(253) |+
gég (For lifting)
468 Grease refueling port(B)

484 . @
L2 Adjustment bolt (For belt tension) {5 § °
»80 0
(620) F—1$60 h7-0.03
620) —o 71 (3) $22 THRU, C-BORE $32, 21.50P
@, (For mounting)

(485) |~ — ) ) Bracket
i 8 A (6)$22 THRU (For mounting) (Paint color:N9)
385 g0 ‘ Scale L a

i i 24 4 1 | |Scale
810 1—E o[\ M12x1.75 THRU | 1 needie
210 ﬁ%—*“’ ; / (For lifting) N | % ——
110 ‘DJ“— / (145) 7 Li

35 = \ O]

0 0. \ I
(120)
Cooling fan Jack bolt
MDS138H-24
(Orientalmotor)
(410) Wiring plate
Servomotor —
Motor capacity.” 30kW 2 Q ©
(YASKAWA) o
For EVR2-75/ Eyebolt M10 492
EVR2-150
1 L
Air OUT Air OUT
P >
Emergency
stop switch L
~Jouch panel
—
E o
o]
o <
Q —
®
Power switch S
[
(=]
(=]
@
Air IN Connector plate Air IN
> /—L <
s S
éﬁéﬁ R R ) } (4)914 THRU
. . . .
O il | 8
L s0 | 137.3]. 310
610 510

Mass: EVR2-75:115kg / EVR2-150:125kg
Paint color: N9 (semi-gloss)

EVR2-150

[Unit:mm]
385
30 Il 1
70 v +| Grease refueling port (A)
140 % ©
(200) s
20 &l ° (4)M10x1.5 THRU
260 C 1l (For lifting)
8 | Y
391t EE =_Grease refueling port(B) 9
(440) = Adjustment bolt g e
2 (For belt tension)
(525) D
IS ¢50 h7-0.025
= M10x1.5 THRU Bracket
e (Paint color:N9)
350 = = (For Imlng)D:ﬂ:( o
300 @ ‘ oo ‘ @ — Scale
J Scale needle
240 . ol : |eteslis LS
Y
b 145
— Ha
110t
T \L
50 /.é = 5
3 Cl } o | | Jack bolt
E 86
(133) (123)
(4)¢22 THRU T Servomotor
(For mounting) 470 Motor capacity/15kW
Cooling fan 518 (YASKAWA)
For EVR2-300
Eyebolt M10
1100 492
o) 1
Air OUT Air OUT
< 2
E
CINEETRI
Touch panel
N N (=]
T — l l "2}
8 | H f 3
o)
) o
Power switch ]
o
o
©
Connector plate
Air IN
<
(4)p14 THRU
I 2
“ 1140 ” 1373|310
1180 510

Mass: 250kg
Paint color: N9 (semi-gloss)



	00
	01
	02
	BACK



